EAGRAROBREERT — 2 N— ABISH —F

2013545290 (A) 2mEKR6H

m C2+=Z# 7% ‘ [Xfg] B ‘ [EmhEl — | & () 13000 B
[A&4£)] 1% :100,000 ™ ~ 23#%&:20,000”  33#%&:10,000 ™ ~ 43%&:7,000H ~ 53 :3,000H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
TSN ROB— . —3-2— — HEBE (KR)
1We|/ b/AFNKY s 54.0 1'(2_4)'8 S22 1396 ! f_373) &) £—257
R:x&—Yria—x B:R—/NI FEE ==
. 9D FH* 224, -1-1- . = RIEZHAI (KIR)
9 10l TV Y SR=k i 6 a5 1(32;2)9 1-1-1-1 [ 39.9 3 (4_637) ikl
RO—Y XA 214 B:hTTF197> -
= #HER : -0 — FEZE (KR)
W, 757-4.7 B4 HE 1.(265>.9 2-2-2-3 | 40.8 1 ;1_53 T 7
LNTNAHLTzA— B:TI7ER147D RH #A
4 5 | PIEREE(R 1:26.2 5-4-4-5 | 40.8| — 5 308 | fEAARE— (KR)
4178 TLAt—10— 54.0 (1 1/2) 2 | A K- 257
L:av¥2Y3Y BiILF—N—F hiilkse]
_ . . TEHEE 126. ~5-5- . - NEEFEE (BE)
5155 TJ1AT4TNyE "6 56.0 1(7265)2 6554 | 407 6 :1_413; /EE) K—Z4T
LANTINGZ B:TFEENYE— BRIESUS
3 3 : 44 | ERRE 1:26.3 10-7-6-6 | 40.1| — 2 450 | FiEF= (ERAE)
6 4|3/ 2XT—K 56.0 (1/2) @) (/75) K—RHT
R:TIvr8%Y—F BH—FI I B4
N -4 = EAATE : -10-10- - =iEi (KR)
T B4 g 1.(2:3).9 9-10-10-10 | 39.4 8 (ﬂg) tgga&%
LA 39K —=5— B.T7ITUHCRAA =tstie]
s = S, o i 4 | BREERRE 1:27.1 4-6-6-7 |41.1| — 9 389 | fEEEHEE] (KiR)
gl1|1|FT1T77>a> 54.0 (1 1/4) wa | ) K—Z 47
L:Urh—r BuAATYTLya A HE
— - FHREEA :27. —-8-8- . — BEAFK (BHE)
olglo| 2757714~ # 5 e 1(217)3 7-8-8-8 | 40.9 10 :1_730) EEE) @
:IT7IN=FK Bi¥auIq3av/ FBEZX %Y K
N KHPE 07, _9-g— . — NEREE (B
10 3 HIJTIVING X a5 4 54.0 1(32/74)4 8999 1405 ! (T;) ,(E) K= T
L= ATOa— B:XXHIVIL T—IWRT7—L
® 1 —F—@EBIERL
1T=7r= 10,2,6,1,8,5,9,3,7,4
20—F— 10,2,6,8,5,1,4,9,3,7
33—7— |10,(2,6),8,5,(1,4),9,3,7
40—+ — 10,6,2,5,8,4,1,9,3,7
[ N5
B 6 680M 714K 6-10 300M e E 6-8 1,880 JEE 2-6-10 600F4
B B 6 200M 2-6 240M B = 6-10 1,760M 3EE 6-10-2 7,380M
10 1504 2-10 210M B H 6-10 2,890
2 1009

ARICOVWTRDTEEERROODE. TR LI,




